Math 2201






 
Name: ____________________________
Ch 3 Assignment 






Due:  Wed, Nov 21 (TEST WED, NOV28TH)
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Part A: Place the letter of the correct response in the space provided.


            (40 marks)
(2 marks each - 1 mark for showing workings, 1 mark for the answer)
1. 
Determine the measure of
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R

S

56.5°

38.91 m

D to the nearest tenth of a degree.



1.______
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63

°

 







	(A) (B) (C) (D)
	18.4°
19.5°
70.5°
71.6°


[image: image19.png]


2.
Determine the length of side z to the nearest tenth of a centimetre.



2._______

	(A) (B) (C) (D)
	9.7 cm 
2.6 cm
5.4 cm 
8.5 cm


3.
A flagpole casts a shadow that is 21 m long when the angle between the sun’s rays and 
3._______

the ground is 48
[image: image2.wmf]o

. Determine the height of the flagpole, to the nearest metre.


	A)
	19 m
	B)
	16 m
	C)
	14 m
	D)
	23 m
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4.
Determine sin A and cos A to the nearest tenth.





4._______

	(A) (B) (C) (D)
	sin A = 1.7;  cos A = 0.8  sin A = 0.6;  cos A = 1.3
sin A = 0.8;  cos A = 0.6  sin A = 0.6;  cos A = 0.8
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5.
Determine the measure of 
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V to the nearest tenth of a degree.



5._______

	(A) (B) (C) (D)
	59.5
36.1
30.5
53.9


6.
Calculate the length of this rectangle to the nearest tenth of a metre.



6._______
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	(A) (B) (C) (D)
	7.9 m 
2.9 m
6.7 m 
3.1 m


7.
An architect draws this diagram of a wheelchair entrance ramp for a building. 


7._______

Determine the angle of inclination of the ramp to the nearest tenth of a degree.



	(A) (B) (C) (D)
	86.7 m

29.7 m

3.3 m 
5.1 m


[image: image23.emf]A B

C

12

16

20


8.
A surveyor made the measurements shown in the diagram. Determine the distance 

8.______




from R to S, to the nearest hundredth of a metre. 







	(A) (B) (C) (D)
	46.66 m 70.50 m
25.75 m 58.79 m


[image: image24.emf]15.1

8.9

V

T U


9.
Determine the length of QR to the nearest metre.





9.______
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	(A) (B) (C) (D)
	85 m

170 m

127 m 
118 m


10.
A ladder which is 6 m in length is resting against a house. The ladder makes an angle 

10._____
           


of 
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°

 with the ground.  How far from the base of the house is the ladder touching 




the ground?
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(A)  2.1 m



(B)  2.2 m



(C)  5.6 m



(D)  17.5 m
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11.

Which of the following is the correct ratio for 
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A

?





11. _____


(A) 
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(B) 
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(C) 
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(D) 
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12.

Determine the value of x.








12. _____



(A) 6




(B) 21.6


(C) 3.5




(D) 13.4
13.

What is the value of x in the diagram below?






13. _____


(A) 45.4




(B) 24.7


(C) 19.2



(D) 16.1

14.

What is the value of ( in the diagram below?






14. _____


(A) 35°




(B) 46°


(C) 0.77°




(D) 44° 

15.

If a triangle has sides of lengths a, b and c, then according to the Law of Sines,


15. _____


what does a equal?


(A) 
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(B) 
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sin
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C



(C) 
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(D) 
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16.

Find the value of x in the diagram below.






16. _____


(A) 25.7




(B) 39.9


(C) 12.2




(D) 24
17.

Find the measure of the missing angle to the nearest degree.




17. _____


(A) 67°




(B) 23°


(C) 50°




(D) 35°
18.

Which of the following would be the correct formula to use for finding the length of AB?
18. _____




(A) 
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(B) 
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=++




(C) 
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(D) 
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19.

Find the value of x in the diagram below.






19. _____


(A) 12.5




(B) 24.1


(C) 19.2




(D) 8.8

20.

Find the measure of the smallest angle in the diagram below.




20. _____


(A) 88°




(B) 54°


(C) 38°




(D) 36°

Part B: Show all workings in the space provided.


           


             (10 marks)

21.     
The straight-line distance between Kelly’s Island and Bell Island is 4.6 km.  Bonita and John want to 
take their boat from Kelly’s Island to the tip of Little Bell Island. How far will they travel in total?  
Give your answer to the nearest tenth of a metre.


                                                                                                                                            



(3 marks)


22.      Find the missing value of x in the following triangle to the nearest meter.  
       

(3 marks)      


23.      Find the measure of (  to the nearest degree in the following triangle.  
       


(4 marks)      
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